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TLA is a Teacher Led Assignment

A message for students

Fractions and decimals can be difficult to understand unless you think of them  in a particular way. There are rules for doing calculations with fractions and decimals but these can be rather confusing unless you first get a clear idea of what the rules are actually doing. When you work through the booklet you will see that you are asked to use ‘pictures in the mind’. This is very important. Do not fall into the trap of spotting patterns and trying to remember rules that only seem like a strange game. Keep using the ‘mind pictures’ and you will see that the calculations really make sense. This booklet will help you work confidently with a topic that many people find difficult. 

The booklet consists of three parts.

Part 1: fractions as operators linked to percentage

Fractions are used as instructions for performing the operation ‘replace’. The percentage sign is only a hint to think of a particular fraction.

Part 2: fractional parts linked to percentage
When we divide one number by another number we often get a ‘remainder’. The remainder is linked to the fraction as an operator introduced in Part 1. This idea is then used for harder problems with percentages.

Part 3: inverse operators linked to percentage
Each fractional operator has an inverse that ‘undoes’ the operation.

Part 1: fractions as operators linked to percentage

          TLA1
What …                                 you need to know to start.

Put three cups on the maths table. When I say’ replace them with a smaller number of cups’, the word ‘replace’ means that you must pick up all three cups, get rid of them and then pick up a smaller number of cups (you might choose 2) and put them on the table. You will get the wrong idea if you simply take away a cup so you leave two on the table. Act replace accurately.

1) Put 3 cups on the table. Replace them with a smaller number of cups.

2) 2) Put 3 cups on the table. Replace them with a bigger number of cups.

3) Put 3 cups on the table. Replace them with the same number of cups.

4) Put 2 cups on the table. Replace them with a bigger number of cups.

5) Put 4 cups on the table. Replace them with a smaller number of cups.

What …                               you need to do to start. TLA2
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I want to give my orders to replace without talking.  When I show you these two sticks and say: Compare this

to this                                          you say ‘smaller’.
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                              to this                        you say ‘bigger’.

And this

to this                                          is ‘same’.

1) Put 3 cups on the table.


2) 2) Put 3 cups on the table. 

3) Put 3 cups on the table. 

So…                                           what do you do?  TLA3

If I show you this

                           to this                          you first of all say ‘smaller’ and then you say ‘2 to 3’. You say ‘smaller, 2 to 3’. 
I can now tell you the replacement more accurately. Imagine six cups on the maths table. The word ‘smaller’ tells you to replace them with a smaller number of cups. The words ‘2 to 3’ tell you to group th cups in threes and then replace each group of three with two. What is on the table now? Four. You have done


[image: image1.wmf]2

3

6

4

of

=


So …                                                  you can do these.   TLA4
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 Now …                          what can you do?  TLA5
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So …                                     you can do this.   TLA6
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Now …           you can practise                     EXERCISE 1


and …               you can practise                         EXERCISE 2
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Part 2: Fractional parts linked to percentage
What …                   you need to know to start.           TLA7
· 5 / 100 has the same value as 5%

· 8 ÷ 3 = 2 remainder 2 has the same value as 
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What …                           you need to do to start .          TLA8
1) 11 ÷ 3

2) 17 ÷ 5

3) 11 ÷ 6

4) 13 ÷ 10

5) 20 ÷ 19

So …                                     what do you do?          TLA9
When you see 7% of 273 you know that 7% is ‘smaller, 7 to 100’. Put 273 cups on the table. For every 100 you can see you replace with 7. You can see 2
[image: image7.wmf]73
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piles of 100.For every 100 you replace with 7. So you get 7 cups 2.73 times. You work out 7 × 2.73 = 19.11
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So …                                         you can do these.        TLA10
1) 7% of 273

2) 2% of 2541

3) 11% of 563

4) 105% of 481

5) 71% of 736

6) 4.3% of 543

7) 19.3% of 377

8) 17.5% of 653

9) 117.5% of 653

10) 100% 0f 653

 Now …                   you can practise             EXERCISE 3
1) 3% of 273

2) 5% of 2541

3) 12% of 563

4) 115% of 481

5) 72% of 736

6) 4.3% of 543

7) 17.3% of 377

      and …

                                       you can practise       EXERCISE 4

1) 3% of 233

2) 5% of 2444

3) 12% of 453

4) 115% of 521

5) 72% of 222

6) 4.3% of 583

7) 17.3% of 307
Part 3: Inverse operators linked to percentage
 What …                        you need to know to start.            TLA11
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What …                        you need to do to start.                  TLA12
Write down the inverse of each operator.
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So …                                        you can do these.       TLA13
Use inverse operators to ‘reverse’ these calculations.
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Now …                you can practise               EXERCISE 5
Write down the inverse of each operator.
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    and …                you can practise                       EXERCISE 6

Use inverse operators to ‘reverse’ these calculations.
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Miscellaneous Examples A
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8) 12% of 563

9) 115% of 481

10) 72% of 736

11) 4.3% of 543

12) 17.3% of 377

Miscellaneous Examples B
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8) 13% of 563

9) 105% of 481

10) 73% of 736

11) 4.2% of 543

12) 57.3% of 377

Use inverse operators to ‘reverse’ these calculations.


� EMBED Equation  ���





Use inverse operators to ‘reverse’ these calculations.
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Write down the inverse of each operator.
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Write down the inverse of each operator.
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